Study of signal pulse hight
as a function of PMT HV




(A/A700v) vs (HV -700V)
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Fit results




P1 results

Fit Result Slope .
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Gain attenuation factor for AHV =-50V

~ 2,4 far from saturation
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Structure of DAQ SW:

output TTree .root




tree-=Branch{"n_event", &n_event, "n_event/I");

file root: TTree

tree-=Branch{"date_event" ,&date_event ,"date_event /1" );
tree-=Branch{"time_event" ,&time_event,"time_event /D" );

tree-=Branch{"adc", 8adc, "adc[N_CHAMNELS]/I");

n_event: | |date_event:| |[time_event:| | adc[320]:

event event date: event time: adc count

number: number of seconds from relative to

progressive days from 00:00 a.m. 320 PMT

from 1 january 1, (millisecond channels
2009 precision)




Acquisition problem (?)

nwords: number of data vector elements in binary file
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To do

1) Read TTree
(plot adc[320] vs #ch)

2) Pedestals subtraction
(take pedestal values from five .txt files)

3) Unfolding




